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PLEASE NOTE THAT THE PROBLEMS ARE NOT NECESSARILY
ORDERED IN DIFFICULTY.
Good luck!
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1. Consider transmission of bits stream b; € {0,1}, where i = 0,1,...,15 is the time index,
using PAM with symbol rate 1/7" and pulseshape h(t) over an additive noise channel as
illustrated in the figure below.

n(1)
y(1)
bi @k PAM | 5() l Matched
—>| Mapper —> h(r) )@ > filter >
T
A (1)
1] 4= -
>
To 2T, "

The mapper implements a Gray code according to the following table.

bak b2k+1 Qg

0 0 -3
0 1 -1
1 1 1
1 0 3

Suppose that the bit stream is

v 0
1

3
b; 1

1 2 45 6 78 9 10 11 12 13 14 15
0 0 0oo0o0oo0o0o01 1 0 1 1 O
(a) Plot s(t) when T' = 3Ty. Label both axes carefully. (3p)

(b) Suppose we choose the matched filter impulse response to be causal. Plot y(¢) when
T = 3Tj and indicate the optimal sampling points for decoding the transmitted data.
Ignore the noise, i.e., set n(t) = 0. Label both axes carefully. (4p)

(¢) Choose T such that (i) the data rate is maximized and (ii) the transmission is ISI-
free. Give expressions for 7" and the maximum data rate in terms of 7. (3p)

(d) Repeat Part (a) and (b) for the symbol rate chosen in Part (c). (2p)



2. Consider a wireless LAN in which a number of stations STA1, STA2, ..., are transmitting
IP packets to a central access point (AP). The involved protocols are IP, 802.11, and LLC.
The IP packet are 1500 byte long.

Suppose the 802.11 header and trailer is 30 byte and 4 byte long, respectively, the LLC
header is 5 byte long, and the IP header is 40 byte long. The 802.11 ACK frame (including
header and trailer) is 14byte. We use DCF without RTS/CTS handshake as medium
access and assume that the SIFS is 16 us and the DIFS is 34 us. The contention window
is [0, 15] slots, where the slot duration is 9 us.

We will use a simplified model of the PHY layer in which we ignore any overhead (pream-
bles, training symbols, etc.). In fact, we consider the PHY layer as a bit pipe with data
rate 54 Mbit/s. In the absence of a collision, the PHY layer is error-free.

We ignore propagation delays and consider carrier sensing to be perfect and instantaneous.

(a) Sketch the layout of the transmitted data frames. That is, indicate in which order
the various headers, trailers, and the IP packet are placed in the MAC layer PDU.

(3p)

(b) Suppose STA1 has a long sequence of IP packets to transmit, while all other stations
are idle. What is the highest and lowest data rate the transport layer in STA1 can
experience? (3p)

(c¢) Suppose that there has been no data traffic for a while. Hence, no station is in
backoff. Suppose that STA1 becomes ready to transmit a frame at time t; = 0 and
that STA2 and STA3 becomes ready to transmit frames at time to > 0 and t3 > 0,
respectively, while all other stations remain inactive. Explain under what conditions
the frames from STA2 and STA3 will collide. Assume that all stations can sense
each others transmissions. (3p)

(d) Assume the same starting point as in Part (c): no station is in backoff and STA1
becomes ready to transmit at time £; = 0. Suppose STA1 is a hidden terminal to
STA2 and that STA2 becomes ready at time to > 0, while all other stations are
inactive. For which values of ¢5 will STA1 be forced to retransmit its data frame?
Assume that collisions destroys all frames involved in the collision, regardless of
which station is transmitting or receiving. (3p)



3. Consider bidirectional communication between STA A and STA B over a wireless medium
using Stop-and-Wait ARQ. The distance between the communication stations is 180 km
and we assume that the propagation speed is ¢ = 3 x 108m/s. Processing delays are
assumed to be negligible.

The SDU size is 1500 byte and the header size 40 byte. An ACK frame consists of a
header plus 1 byte of control information. We assume that the Stop-and-Wait timeout is
set large enough to avoid unnecessary retransmissions.

We can use the total available wireless bandwidth W in full-duplex or half-duplex mode.
In full-duplex, transmissions from STA A and from STA B are separated in frequencyj, i.e.,
each transmission has bandwidth /2. For half-duplex, transmissions from STA A and
from STA B are separated in time. Hence, each transmission can use the full bandwidth
W, but only half the time. As a consequence, the underlying PHY layer has data rate
10 Mbit/s when full-duplex is used and 20 Mbit/s when half-duplex is used. Moreover,
we assume that no bit errors occur during transmission.

We assume that STA A and STA B always have data to transmit. In the half-duplex
case, the stations take turns in transmitting information frames. That is, suppose STA A
starts by transmitting an information frame. The next information frame from STA A is
then not allowed to be transmitted before STA A has received an information frame from

STA B.

(a) Compute the effective data rate for STA A provided by the Stop-and-Wait protocol
when full-duplex is used. (2p)

(b) Compute the effective data rate for STA A provided by the Stop-and-Wait protocol
when half-duplex is used. (3p)

(¢) Now suppose we use piggybacking for the acknowledgements. That is, the payload
in the information frames consist of an SDU plus the ACK control information (1
byte). No explicit ACK frames are transmitted. Compute the effective data rate for
full-duplex communication. (3p)

(d) Repeat Part (c) for half-duplex communication. (4p)
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1. Consider transmission of bits stream b; € {0,1}, where i = 0,1,...,15 is the time index,
using PAM with symbol rate 1/7" and pulseshape h(t) over an additive noise channel as
illustrated in the figure below.

n(t)

(1)

bi @k PAM | S() l Matched
—> Mapper ——> h) )@ > filter >
T
A (1)
1] 4= -
>
To 2T, "

The mapper implements a Gray code according to the following table.

bak bzk+1 Qg

0 0 -3
0 1 -1
1 1 1
1 0 3
Suppose that the bit stream is
1 01 2345 6 789 10 11 12 13 14 15
b 1 001 0 00O0O0OO0CT1T 1 0 1 1 0

(a) Plot s(t) when T' = 3Tp. Label both axes carefully. (3p)

(b) Suppose we choose the matched filter impulse response to be causal. Plot y(¢) when
T = 3T, and indicate the optimal sampling points for decoding the transmitted data.
Ignore the noise, i.e., set n(t) = 0. Label both axes carefully. (4p)

(¢) Choose T such that (i) the data rate is maximized and (ii) the transmission is ISI-
free. Give expressions for 7" and the maximum data rate in terms of 7. (3p)

(d) Repeat Part (a) and (b) for the symbol rate chosen in Part (c). (2p)

(a) The output from the mapper (i.e., the symbol sequence) is

k0O 1 2 3 4 5 6 7
a 3 -1 -3 -3 -3 1 -1 3 (1p)

Hence, there are K = 8 symbols and the transmitted signal is

K-1 7
s(t) = Z aph(t — kT) = Z aph(t — k3Tp),
k=0 k=0

which is depicted below.
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3T, 6T, 9T, 121, 15T, 18T, 21T, 23T, (1p)

t

1
(b) Let us choose the matched filter impulse resp(gnge)as h(3Ty — t) (other choices are
possible: the impulse response h(T" — t) is matched and causal if 77 > 27;). The
output from the matched filter is then x(t) = h(t) x h(3To — t), as depicted below.

>
T 21, ;
A h(0) = h(3Ty - 1)
Ty 4----=-
>
T, 2T, 3T, 4To 670 ¢

The matched filter output (ignoring the noise) will be

7

y(t) = s(t) « h(3Ty — t) = i apr(t — kT) = ap(t — k3Tp),

k=0 k=0

and the optimal sampling points are t = 37Ty + kT = (k + 1)3Ty, k= 0,1,...,7.
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| y(t)

(1p)
3T,r =
L (2p) ]
0 A
Tk i
-3 T, b i
| | | | | | | | |
0 3T, 6T, 9T, 127, 15T, 18T, 21T, 23T,

t

(c) We note that the support (duration of nonzero part) of h(t) is Ty. Hence, we can
(1,5p) transmit ISI-free with a matched filter receiver if T > T,. The data rate is R =
logy(M)/T = 2/T and is maximized when T' = T,. That is, we choose T' = T and

the data rate is R = 2/Ty. (1.5p)

(d) The transmitted signal is

7 7

s(t) =Y agh(t — kT) = aph(t — kTy),

k=0 k=0

and the noiseless output of the matched filter is

y(t) = Z apr(t — kT) = Z apz(t — kTp).

and the optimal sampling points are t = 37y + kT = (k+ 3)Typ, k=0,1,...,7.
s(t)

(1p)

0 T 2T 3T 47 5T 6T T 8T 9T 10T
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3T, - A A -

3T L

0 T 2T, 3T, 4T, 5T, 6T. 7T, 8T, 9T 10T0 11T0 12T0

The dashed lines in the figure above indicate the pulses az(t — kT'), k =0,1,...,7
that make up y(t).
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2. Consider a wireless LAN in which a number of stations STA1, STA2, ..., are transmitting
IP packets to a central access point (AP). The involved protocols are IP, 802.11, and LLC.
The IP packet are 1500 byte long.

Suppose the 802.11 header and trailer is 30 byte and 4 byte long, respectively, the LLC
header is 5 byte long, and the IP header is 40 byte long. The 802.11 ACK frame (including
header and trailer) is 14 byte. We use DCF without RTS/CTS handshake as medium
access and assume that the SIFS is 16 us and the DIFS is 34 us. The contention window
is [0, 15] slots, where the slot duration is 9 us.

We will use a simplified model of the PHY layer in which we ignore any overhead (pream-
bles, training symbols, etc.). In fact, we consider the PHY layer as a bit pipe with data
rate 54 Mbit/s. In the absence of a collision, the PHY layer is error-free.

We ignore propagation delays and consider carrier sensing to be perfect and instantaneous.

(a) Sketch the layout of the transmitted data frames. That is, indicate in which order
the various headers, trailers, and the IP packet are placed in the MAC layer PDU.
(3p)

(b) Suppose STA1 has a long sequence of IP packets to transmit, while all other stations
are idle. What is the highest and lowest data rate the transport layer in STA1 can
experience? (3p)

(¢) Suppose that there has been no data traffic for a while. Hence, no station is in
backoff. Suppose that STA1 becomes ready to transmit a frame at time ¢t; = 0 and
that STA2 and STA3 becomes ready to transmit frames at time ¢, > 0 and ¢35 > 0,
respectively, while all other stations remain inactive. Explain under what conditions
the frames from STA2 and STA3 will collide. Assume that all stations can sense
each others transmissions. (3p)

(d) Assume the same starting point as in Part (c): no station is in backoff and STA1
becomes ready to transmit at time £; = 0. Suppose STA1 is a hidden terminal to
STA2 and that STA2 becomes ready at time t, > 0, while all other stations are
inactive. For which values of ¢5 will STA1 be forced to retransmit its data frame?
Assume that collisions destroys all frames involved in the collision, regardless of
which station is transmitting or receiving. (3p)

(a) Let "H’ denote header and "I” trailer. The data frames will have the following
structure: [802.11H|LLCH|IP Packet[802.11T|.  (3p)

(b) Using the DCF, a STA that has transmitted a frame successfully apply a back-off
before it transmits again. Following that, the maximum data rate experienced is for
the first frame transmitted or for a frame transmitted when the backoff counter was
0 slots. the minimum data rate that can be experienced corresponds to a back-off
of 15 slots. The round-trip time for a transmission can be expressed, ignoring the
processing and propagation delays, as T" = DIFS + Koty + tf + SIFS + ¢,, where
Kgo € [0, 15] is the number of backoff slots, ¢, is the slot duration, ¢; and ¢, are the
frame and ACK transmission times respectively.

(1500 + 30 + 4 +5) x 8
54

~ 2.1 us

f = = 228 us
14 x 8
Y
Thax = 415.1 us
Tiin = 280.1 ps
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(3p)

(3p)

Then, the transport layer SDU is given by 1500 — 40 = 1460 byte, and the corre-
sponding data rate experienced by the transport layer is

(2P) Rumax = 41.70 Mbit/s, Ry, = 28.14 Mbit/s  (1p)

If t, <t} and t3 < t|, where t| = DIFS + t; + SIF'S + t, is the time instant the ACK
from the AP is received at STA1, then both STA2 and STA3 will sense the channel
as busy and apply backoff. If the backoff counter drawn for both stations is the same
then, the stations will collide. This will happen with probability

1/(number of possible backoff counter values) = 1/15.

The other event that leads to a collision is if t; = t3 > ¢}, then both stations will
transmit after sensing the channel for DIFS and the transmission will collide. The
probability for this event is zero.

STA1 starts its transmission (to the AP) at time ¢; = 0 and the transmission is
completed when the ACK from the AP is received. Since STA1 is hidden to STA2,
the transmission from STA1 will not be detectable by STA2. Hence, STA2 will
sense the channel as idle, regardless if STA1 is transmitting or not. However, the
ACK from the AP can be detected by STA2. Therefore, if STA2 becomes ready at
time to < (DIFS + ¢; + SIFS) — DIFS, then the transmission from STA2 will start
sometime during the time is takes to complete the transmission of the frame from
STA1. Hence, STA1 will have to retransmit.
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3. Consider bidirectional communication between STA A and STA B over a wireless medium
using Stop-and-Wait ARQ. The distance between the communication stations is 180 km
and we assume that the propagation speed is ¢ = 3 x 108m/s. Processing delays are
assumed to be negligible.

The SDU size is 1500 byte and the header size 40byte. An ACK frame consists of a
header plus 1 byte of control information. We assume that the Stop-and-Wait timeout is
set large enough to avoid unnecessary retransmissions.

We can use the total available wireless bandwidth W in full-duplex or half-duplex mode.
In full-duplex, transmissions from STA A and from STA B are separated in frequency, i.e.,
each transmission has bandwidth /2. For half-duplex, transmissions from STA A and
from STA B are separated in time. Hence, each transmission can use the full bandwidth
W, but only half the time. As a consequence, the underlying PHY layer has data rate
10 Mbit/s when full-duplex is used and 20 Mbit/s when half-duplex is used. Moreover,
we assume that no bit errors occur during transmission.

We assume that STA A and STA B always have data to transmit. In the half-duplex
case, the stations take turns in transmitting information frames. That is, suppose STA A
starts by transmitting an information frame. The next information frame from STA A is
then not allowed to be transmitted before STA A has received an information frame from

STA B.

(a) Compute the effective data rate for STA A provided by the Stop-and-Wait protocol
when full-duplex is used. (2p)

(b) Compute the effective data rate for STA A provided by the Stop-and-Wait protocol
when half-duplex is used. (3p)

(¢) Now suppose we use piggybacking for the acknowledgements. That is, the payload
in the information frames consist of an SDU plus the ACK control information (1
byte). No explicit ACK frames are transmitted. Compute the effective data rate for
full-duplex communication. (3p)

(d) Repeat Part (c) for half-duplex communication. (4p)

(a) Let t; be the duration to transmit a PDU, ¢, the duration to transmit an ACK and
7 the propagation time. The round-trip time for the full duplex case is given by
TFD =1+ 27 + ta-

(1500 + 40) x 8

tr = 107 = 1.232 ms
404 1) x 8
g WOF D X8 0398 s
107
180 x 103
T = A = 0.6 ms
3 x 108
Trp = 2.467ms (1p)

Following that the effective data rate is

1500 x 8 :

(b) In absence of errors, the communication will take place as indicated in Figure 1. Fol-
lowing that, we can compute the total period separating two consecutive transmitted

9
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B Frame A, sN=1

RX =
1 Frame B, SN=0 ACK sent by A I:l

ACK sent by B
TX 1 Frame B, SN=0

Frame A, SN=0 . Frame A, SN=1
a) Data transfer in Half Duplex mode

TFD

Frame A, SN=0 Frame A, SN=1
Frame B, SN=0 Frame B, SN=0

Frame B, SN=0 Frame B, SN=0
Frame A, SN=0 Frame A, SN=1

b) Data transfer in Full Duplex mode

Figure 1: Data transfer for HD and FD modes

(1p)
PDU by the STA A as Typ = 2t; + 27 + 2t where ¢; and ¢, are the transmission
time of a PDU and an ACK, respectively, in half duplex mode.

(1500 4 40) x 8

ty = 5% 107 = (0.616 ms
(404 1) x 8

th=-———=0.0164

a 5 % 107 0.0164 ms

Then, the effective data rate is Ryp = Rgp. (]_p)

(c) In case piggybacking is used—Figure 2, the round-trip time for the FD mode (as-
suming that STA A starts transmitting first) is given by Trp = 2¢; + 27. (1p)

(1500 + 1 + 40) x 8

ty = TG = 1.238 ms (1p)
TFD = 3.676 ms
Rpp = 3.264 Mbit /s (1p)

(d) The total period separating two consecutive transmitted PDUs by STA A is Typ =
275% + 27. (Zp)
(1500 +1+40) x 8
ty = 5 % 107 = 0.619 ms
Typ = 2.438 ms (1p)

10


chouaib
Typewritten Text
(1p)

chouaib
Typewritten Text
(1p)

chouaib
Typewritten Text
(1p)

chouaib
Typewritten Text
(1p)

chouaib
Typewritten Text
(2p)

chouaib
Typewritten Text
(1p)

chouaib
Typewritten Text
(1p)

chouaib
Typewritten Text
(1p)

chouaib
Typewritten Text
(1p)


A, SN=1, RNz=1

B,SN=0, RNx=1

TX
B —
RX

B, SN=0, RNA=1

A, SN=1, RNg=1

a) Half Duplex

Tep

A, SN=1, RNg=1

B, SN=0, RN,=1

B, SN=0, RN,=1

A, SN=1, RNg=1

b) Full Duplex

Figure 2: Data transfer for HD and FD modes when piggybacking of ACKs is used
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